MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

CHALLENGE 1;1?: Seomes
151) —0.04 x 339 = 166)  —(0.0011 x 3.51 =
52 —0.5 % 0.0169 = w67 —0.11 x (—0.0286) =
153 2 % 0.462 = w69 0.3 X (—1.62) =
w59 0.5 x (=3.7) = 09 —1 x4.14 =
) —0.007 x (—0.0404) = 170)0.0004 x 10.8 =
156 0.007 % 207 = ) —0.11 x (—0.0287) =
57 1% (—0.117) = i —0.5 % 0.104 =

59 0.9 x (—0.055) =
59 —0.001 x (—2.64) =
60 —0.011 x (—441) =
161 0.01 x 160 =
0,005 x (—3.43) =
163 —6 x 0.467 =

164 —0.008 x 0.0028 =

0 —8 x (—0.0447) =
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0.0004 x (—25.6) =
0.0005 x (—335) =
—0.006 x 1.32 =
0.01 x 0.104 =

—1 % 40.1 =

0.0004 x 0.157 =
0.001 x (—0.0184) =

0.01 x 1.27 =
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